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1. FEOHH

BRTCAEREICBIT AT AOMAE FEE. 9, 587 F THIAEEITH~1955 (2. 0%)
DI L7 > TNET, WK ZK(1L70. 4% TLTZ,
F7-. PG EIX. 1, 387, 786 m THIMEREIZEL51, 4881 (3. 6%) DI

LR ELT,

(1) fEfaIRd
X 5y | BFOSCE R T R 30EEE RO | 2 51 B
fit k& 7 OF) 9,587 9,782 A 195
(H 2) () ( 9,538 ) | ( 9,732 ) | ( A 194)
O X 7 2) () ( 49 ) | ( 50 ) | ( A1)
it e & (m) 1,387,786 1,439,274 A 51,488
(7 Z) () ( 1,384,596 ) | ( 1,435,792 ) | ( A 51,196)
OB X H 2) (nd) ( 3,190 ) | ( 3,482 ) | ( A 292)
— BB & (o) 7,583 7,908 A 325
(7 Z) (i) ( 7,566 ) | ( 7,889 ) | ( A 323)
Ot X 7 A) (i) ( 17 ) | ( 19 ) | ( A2)

(2) HEEENGR
ES o) BFOOCHEE T R 30F TR | 2= 51 B
e JiE A (m) 594,073 614,799 A 20,726
(W Z) (i) ( 590,926 ) | (611,375 ) | (A 20,449 )
O X A 2) () ( 3,147 ) | ( 3,424 ) | ( A 277)
] ES A (m) 198,264 216,320 A 18,056
(4 Z) (i) (198,222 ) | ( 216,264 ) | ( A 18,042)
(X A Z) (nd) ( 42 ) ( 56 ) ( A 14)
T ¥ A (m) 376 281 95
(7 Z) (i) ( 376 ) | ( 281 ) | ( 95 )
X 7 2) () ( 0) | ( 0) | ( 0)
e 73) fit, (m) 595,073 607,874 A 12,801
(4 Z) (m) ( 595072 ) | ( 607,872 ) | (A 12,800)
Ok X 7 2) () ( 1) ] ( 2 ) | ( A1)
= 7t () 1,387,786 1,439,274 A 51,488
(H 2Z) () (1,384,596 ) (1,435,792 ) ( A 51,196 )
(NEH X A A) () ( 3,190 ) | ( 3,482 ) | ( A 292)
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(1) EfEx R (BF24:3H31H)

(HAr )
3 jE D 5 H = D =R
1 E % PE 1,374,191,188] 3 TE =) [ 300,820,929
) A E & JE 1,373,850,996 (1) 48 * & 250,810,929
A4 & & B 302,588,977 2 5l B & 50,010,000
VB A 0 ) R B A (A) 165,789,431] 4 i ) 4 & 46,984,198
o fit de @& i 5,671,849,833 (1) 1& ES & 12,157,860
VA A 0 B A (A) 4,454,326,280 (2) & i & 26,844,608
NEEOB O b 2,512,000 (3) 5l = & 7,645,000
Jok A 1 A BB AR (A 2,331,475 (4) T8 U] & 336,730
R B i W 19,347,372] 5 jii 1Y i 178,534,342
Q) ® & E & JE 340,192 WHWE # m = % 1,286,359,327
A J B Kl M 340,192 (2) EWRIZ LIS LREHE(A) 1,107,824,985
2 it £ & JE 264,640,695 '] & a5 & 526,339,469
DENEIE R 193,317,370 13 ZS D 7R
(2) K Iy & 57,843,943 6 & N & 937,832,441
EEEEIEEIATN) 479,710] 7 7l N 4 174,659,973
(3) # i 832,340 & A f# & & 3,711,511
(4) Ji Bt 6,139,022 A = W8 B pE BT Al KA 150,504
(5) i JiEk i 6,971,080 | H 4 3,561,007
(6) HI A 4 16,650 O F & F & & 170,948,462
A4 W E BH 7 & 38,984,207
O R ER M E BN A 58,192,209
AN - VAR 34,115,983
TR R sy R3S B & & 39,656,063
E X & i 1,112,492,414
E E & ar 1638831883 B ® - & A & it 1,638,831,883
(2) RS EHEE CERSIAFE4 A L H ~5 24331 H)
(HAr M)
-3 H D 0 I % D =R
e kBl 228,128,489 w8 5 b 440,663,405
1) ¥ &5 = s 765,824 (1) A A e i 440,663,405
(2 M4 " A S 497,376 HoooO¥ M & 50,556,480
(3) 4 Hy ML B R A 227,884,410 (1) &= ¥ LT F I K 3,169,895
(4) M AEZEEEE(A) 186,781 @) #&F H Mk 72 I 4% 27,964,960
G) R EE (A) 832,340 (3) # B Wk s UL %% 126,225
it Wk e % 237,802,375 (1) & O fhi = ¥ HE & 19,295,400
— & 7 B B 42,704,771 E ¥ A N 4R 23,558,811
Z O oE ¥R A 31,217,539] (1) HE I % 1,997,755
1) =% & T F= JF 3,574,534 (2 = iy ) J5N 5,524
2 # H Mk 7 Al 25,028,765 (3) fth = F A H & 920,000
(3) # EF Bk 7 R Al 114,750 ) & # @i = & K A 20,635,532
4) = o= ¥ H A 2,499,490
=¥ N B 2,094,710
n & ¥ #F M B 1,994,756
(2) HE = H 99,954
/I i 541,947,884
H F B § 8 X A 27,169,188
= K 514,778,696 = A 514,778,696




(B)Fyvia-7u—ithEE

(FAZ: TH)
X 53 BRI | PR30 WO
Haike 182,810 145,072 3,138
AR R K A 27,169 A 8,256 A 18,913
DR AN 134,679 139,053 A 4,374
[ T PE bR A 2,155 2,497 A 342
H 554 &I (A ER) 871 303 568
FERNERED | 24 & DB NNEE(A D58 9,000 9,000 0
BS54 B OB INEEA R ) 108 A 125 233
o |[RHIRTZ &R A A 20,636 A 24,003 3,367
® 2R A6 A3 A3
g SCHFILE 1,995 2,248 A 253
1z | AR DORDFE(A FEINER) 5,305 4,855 450
K FUR T EE(A B A 1,370 1,412 A 2,782
5 s oms s mE A 67 A 59 A
o R dn O RN INER) 1,942 999 943
' F0 & oA B ) A5 A 33 28
FHAA DOHEINFE(A BV FH) A 3,850 A 2,652 A 1,198
AL O FE (A BEINEE) 0 0 0
N 102,952 125,236 A 22,284
= BRI 6 3 3
SHAFILE. A 1,995 A 2,248 253
i 100,963 122,991 /L 22028
[ 7E & PE D BT LD H A 140,288 A 122,117 A 18,171
= MSER) E ORI L D3 0 0 0
% | IEREICEDIA 40,000 34,800 5,200
7 IE|HEeIZEDIA
. ;ﬁg E R 4ot S BIA
BN 19,739 11,299 8,440
il A\ 80,549 A 76,018 A 4,531
& MR EEESICLD I A 9,907 A 9,235 A 672
° j’§ {2 RIS AL LB
o @S FRIEAGICES
I ic Bt A 9,907 A 9,235 A 672
Bl ARG HDINEA(A D) 10,507 37,738 A 27,231
MR = 193,317 182,810 10,507




3. TEOHEN

SRR 8T P59, 4375  AFRR LR E42, 512, 324

FELTNET,

TR R HEREL TR U 41, 000TFHZ TEL TRV ET,

X Ay | ammEELNy T ERE|SMooEEYS Y TER] 5] HOE
fit k& 7 & (F) 9,437 9,648 A 211

(H Z ) () ( 9,391 ) | ( 9,600 ) | ( A 209 )
N X H 2) () ( 46 ) | ( 48 ) | ( A2)
AR AR E () 2,512,324 2,575,109 A 62,785

(A Z ) (i) ( 2,506,566 ) | ( 2,568,554 ) | ( A 61,988)
(X A A) () ( 5,758 ) | ( 6,555 ) | ( A 797)
— B S E () 6,883 7,036 A 153

(A Z ) (m) ( 6,867 ( 7,018 ) | ( A 151 )
(N X A 2) () ( 16 ( 18 ) | ( A 2)




(2) SRN2ELE N AR L3 T HEA

IS AU e OV HY
PN
= IH UEEE YY) T AR (TH) | TR YT a4 (TH) ZE5 [ FER
1 % = =H % 544,081 582,287 /A 38,206
I B T T o 465,685 498,257 A 32,572
2 E ¥ M R 55,897 59,360 A 3,463
3 8 A IR 22,499 24,670 A 2,171
27 K A A 2,780 2,183 597
1 W1y = %k 1,594 1,816 A\ 222
2 F Ol I 4§ 268 266 2
3 ¥ I 4 918 101 817
& 3 546,861 584,470 A\ 37,609
3 H
ES TH UEFE YY) TEAE (TH) | TR Y ) T4 (TH) Z=5 | FER
1/ = == ¥ 566,295 585,515 A 19,220
# Al % % & H 525,469 539,857 A\ 14,388
2 O EE 35,189 35,032 157
3w ENEH 5,637 10,626 A\ 4,989
2 MK A 2,009 2,051 A 42
# Al & % # W 1,865 1,839 26
2 O KA 143 143 0
3w ENEH 1 69 A\ 68
& E) 568,304 587,566 A 19,262
BRI S O HY
IYON
Eoe TH QUELE MK T EAE (T | JeEEE S 974 (TH) =5 | HE YR
1 5 = H % 49,500 70,000 A 20,500
g OAM AN & ¥ fF 40,000 40,000 0
2 T A f & 9,500 30,000 A 20,500
& H 49,500 70,000 A 20,500
X
Eoe TH QUELEMH) T AR (TH) | JeEEE L9 748 (TH) =5 | HE YR
1 5 = HF % 133,335 181,224 A\ 47,889
AW X W Bk BB 112,177 171,317 A\ 59,140
2 {REEHEES 12,158 9,907 2,251
3 F W & 9,000 0 9,000
2 IR HX R F Y 10,000 145 9,855
WA Ml R 10,000 145 9,855
a i 143,335 181,369 A\ 38,034




